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AGJ 1st half (d+) 45 /

Con. 6549-13. | GS-7101
(3 Hours) | Total Marks : 100
N.B.: (1) Question No. 1 1s compulsory. '
(2) Attempt any four questions from Question Nos. 2 to 7. |
(3) Assume suitable data wherever necessary with proper justification.
(4) Figures to the right indicate full marks.

1. Attempt any four of the following - 20
(a) Differentiate between direct coupled amplifier and R-C coupled amplifier.
(b) Differentiate between small signal amplifier and power amplifier.
(¢) Explain why constant current source is used in differential amplifier.
o (d) Give criterion of sustained sinewave oscillations and explain how oscillation statts
and stabilizes in oscillator circuit.
(¢) Give important features of CASCADE amplitier.

2. Design a two stage RC coupled amplifier for following specifications :— 20

A, ~ 1000, S, <10, R, > 10k £
CO '
Ve =12 Vd.c.,, f < 20Hz
Select transistor from the table given at the end of question paper-.

3. (a) Explain how high frequency response of one stage RC coupled JFET CS type of 10
amplifier can be determined.
(b) For the differential amplifier shown in figure, determine :-
(i) Q-points of transistors . 5
(11) differential voltage gain (Ad). 5

For transistors Q1 and Q2
h, =h, = 2k

_1 2
vy hrc, N hf‘ﬁz =B, =B, =100
(neglecth . and h )

\

4. (a) List diffferent types of negative fcedbacks, give their stability ratios, effect of feedback 10
on input resistance and on output resistance.
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(b) For the amplifier circuit shown in figure, determine —
(i) Type of feedback
(i) Stability ratto

(ii1) A o voltage gain with feedback.

-
C joo K = 5‘;4:,&6' For transistor
” 7| & — - .V:; hie =1 kO
L, 1K 1 h,, =100
\G‘n T . (Neglecth__ a..

Vi

5. (a) Design a class A transformer coupled power amplifier to obtain 1.
load resistance of 10 ohm. V_ =12 V.d.c.
(b) Draw the circuit diagram of Wien Bridge oscillator and explam its -

6. (a) Discuss problems encountered in multistage direct coupled amplifiers “
to take care of these problems.
(b) For power dissipation of 25 Watts design a heat sink 1f—

0, =1 %,ae(:—ﬂs = 0‘50%3
T. . =125°C and T, iy = 30°C.

jarax

7. Write short notes on any three of the following :—
(a) Crossover distortion in class B amplifier and how to mintinize the «
(b) Class C amplifier and its application
(¢c) Nyaquist stability criterion
(d) Hartley oscillator.
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